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This Cruestion Paper consists of 34 questions and § printed pages.
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Signature of Invigilators 1.

Frftaret & Temmem

General Instruocti
1. Candidate

2.  Please check|the ] ify and total mpmber of questions
contained in the Question Paper are the same asthose printed on the top of the first page.
Also check to see that the questions are in sequential order.

3. For the objective type of questions, you have to choose any one of the four alternatives given
in the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book
grven to you.

4.  All the questions including objective type questions are to be answered within the allotted
time and no separate time limat is fixed for answering objective type questions.

5. Making any identification mark in the Answer-Book or writing Roll Number anywhere other
than the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 49/ HIS/1-A on the Answer-Book
7. (a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Mepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors,/mistakes in understanding the question will be yours only.
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ECONOMICS
( 2redyTTER )
(214)
Time : 3 Hours | [ Maximum Marks : 100
g 3 ) [ guts : 100
Mote : (1) All questions are compulsory.

(2) Marks allotted to each question are indicated against it.

(3) Each gquestion from Q. Nos. 1 to 8 has four alternatives (A), (B), (C) and (D)
and out of which one is the most appropriate. Select the correct answer
and write it in your answer-book against the number of question.

FEw: (1) =t v wfEd §
(2) wEE O ¥ ofw ToE o et o

(3) T ®OF 1" 8 7%, wAE v § 9n dwfers 3m|(A), (B), (O)
(D) @ 73 ¥ fad & v oft 9 oeifes ofm &) oft o= f aw ot
~gfers # =4 ww wmwiw F Awe fafad
1. Private goodg are those 5z 1

(A) which are exclusively enjoyed by the individwals.
(B) which are available in abundance.

(C) which are available without any discmmiination.
(D} which are free gifts of nature.

Freftaod 3 e ot ¥ -

A) FEFTF o dmgmmEad

(B) =it wgen ° Soerey w E

(C) = farn Pt drm- v & 3were ot €

(D) = wfa %1 Fioges ven wdt €

2.  Freedom of enterprise is a main characteristic of : 1
(A) Socalist economy (B) Mixed economy
(C) Capitalist economy (D) MNone of the above
IO Fi EEda THH g favm #
(A) THTEERET =TT (B) Tafam sef=gseen
(C) demart sidsmaen (D) v & & = 7
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3. Resource allocation in a planned economic system is based on :

(A) Principle of Profit maximization
(B) Principle of social welfare

www.FirstRanker.com

(C) Combined Principle of Profit maximization and social welfare

(D} None of the above

Freiifea anfifs ot o gonrasl 50 sreizs 50 w2 e & &

(A) fusam 5w ¥ fagm ™
(B) Tmfas $0=am % fagm w

(C) wfumeas = au Tmfas $eam ¥ dqw g

(D) Td= & =

4. Departmental enterprises are under the control of :
(A) Foreign Production units
(B) Private Production units
(C) Government Production units
(D) None of the above

favrits Tam HEm ¥ -
(aA) feieh THTEar
(B) =it TeRTET
(C) =oF T
(D) o= { & wrf

5.  Cost of self supplied factors refers to :
(A) Implicit Cost ()
(C) Variable Cost
=4 F g A Rl W = e e e
(A) FE= |E (B) T =mE
(C) freet =R (D) == =

Fixed Cost
(I  Explicit Cost

6. When the quantity supplied of a good is more than the quantity demanded at a given

price, this is the situation of :

(A) Excess Demand (B) Excess Supply
(C) Eqguilibrium (D) MNone of the above
w9 & Fimm v el g S g F o 2ot win 3 o @ ofes &6 R S o faefy
Feant &
(A) fu=g min (B) =myfd snfas
(C) Hge (D) 9w F 4 =8 7
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7. Mass data in unorganised form are called : 1

(A) Primary data (B) Secondary data

(C) Raw data (D)  Array

wanfen w9 § #isd ¥ o oo £ -

(A) wufas wiwd (B) Tofras siwg

(C) & g (D) Tt
8. In case of cheating the consumer can get compensation by using : 1

(A) Right to information (B) Right to seek Redressal

(C) Right to be Heard (D) Right to consumer education

I F e H e TR W S0E g w1 T

(A) T = sfysn (B) Tram s w01 51 sfwsn

(C) T 91 =1 Afeww (D) ToitEn faem 1 sfrsm

9. Give two e
called free

A7 o o F wim = 9E T 9 s agt F s Sl o e S e
& .y Tl o et €7

hy are they 2

10. State any two of the salient features of an economy: 2
uF sd=rren $1 g feva F 2 il & o S

11. Why in Corporations and government enterprises generally there is the use of Capital 2
intensive technology ?

Freif sie st el  searer A N e AT = wam i dm

12. If 96 units of output are produced and the Total Fixed Cost is Rs. 360 alongwith a Total 2
Wariable Cost of Rs. 600. Calculate the Average Cost of Production.

% 96 THISAl F1 SeAeA w1 & A FA e W 360 % i g afedl @m e00 % & @
T Fit A ST F1 T R

13. How do the ‘number of buyers’ buying a commodity determine the market demand for 2
that commaodity ?

felt = =1 %9 =74 99 S B GEN 99 55 F1 90 9 1 59 faife i
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20.

21.
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Draw a supply Curve with the help of the data given below :

Price (Rs. Per unit) 1 2 3 4 5
Cuantity Supphed (in units) 50 100 150 200 250

frefafaa siss =t oo 4 amgf =% 3md

= (. 9fa T5E) 1 2 3 4 5
Argf =1 =5 (TErEd F) 50 100 150 200 250

What is the ‘lack of double coincidence of wants” in the barter system.
T Tafrrs womeht & ' smvgsasd = o dEm FEm #2

Distinguish between a variable and an attribute.

= i F a7 wife

Define Soil degradation. Give one major cause of soil degradation.
=t aftwrn #ifem ) vfa % Frefrmm =1 v v wwm difa)

grave bum injuries on you. Explain thE ap]:lm]:n.aha CONSUMET :nght 1.II'I.-I:|E‘I' which you
will file your complaint.

T T, ST U T FE w0 W wEe S W w2 T e s F s s v
wfa gf | ToitFn F 38 TvgE sfuwn S Emen st faad seia am s frsrma =
TFa €1

Economics is being treated as “Science of Sustainable Development.” Explain how ?
srdfames =i ' aroeits Fawg e faam e w0 T 40

Explain ‘Freedom of Enterprise” as one of the main characterstics of a capitalist economy.
dorart A= 51 v g fden F =0 F w1 = oo

Explain the law of diminishing Marginal Product of Labour with the help of a relevant

schedule.

TS WETE =T $1 geEa ¥ 59§ o Toeea o e o wems )
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22. What is meant by the market price of the commaodity ? Give the three important factors 4
which influence the decision of a seller in fixing the price of a commodity.

feeit 7o it am S & 7= sifme #7399 weeagl sl = w0 Sifed < feeht
T %1 S %1 Ffesm 504 § o feen & Fofa =6t wfem =3 €7

23. Define Insurance. Distinguish between health insurance and life insurance. 4
s %1 wftwrn 3ifed) = i e i Fm F O st

24. Suppose there is only one bank in the economy and it has decided to keep Cash Reserve 4
Ratio as 20%. Explain Stepwise the process of credit creation by this bank. [Give a
relevant example)

i wifed, sefegren § Fam 0w @ 5 aw =9 0% T awam g e W P
fem &1 =9 ¥ o o g 51 wiEn =1 o gaend ) (vF Wit e )

25. State any four features of Statistics. 4
witerst 51 fR = frirmed = s wife)

26. Distinguish Ilzh«een discrete series and continuous series. 4
fafeem =fmren| 7 sifafes o § 92 $1f)

27. Calculate ani T TTearnt (o At given W, USINE & ot method - 4
Marks : 0-5(5-10(10-15|15-20|20-25]25-30

MNo.of Students:| 5 [ 15| 20 | 30 | 20 | 10
=y fafy =1 waim w0t qu Frefafon sisel® owrm e 51 T Fif .

3 0-5|5-10|10-15|15-20]20-25|25-30
faenfiigimigen| 5| 15| 20 | 30 | 20 | 10

28. Explain the land revenue system introduced by the British in India. 4
i g Wa | aren wmE off S womEt F = wie)

29. ‘In India around 78.5 crore out of 121 crore people belong to below 35 years of age.” 4
What does this imply ? Is it a positive or negative thing for the economy ? Explain.

‘A s e A s s A g ¥ ) we afm e i
wefsraen ¥ ol T O s e o swm momes ¢ geEed)
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30. State four reasons for the need for consumer awareness in India.

urd H IovEE-=TEEa ¥ fEd w9 s w0 Seerm wifad

31. Explain the factors responsible for the upward slope of the supply curve.
A =% F T A S wm F ol Tt sl 51 osmEn st

32. State any four changes in the features of Indian economy after independence.
A F ITE, W s 51 fadrrmat | feel = ofte = Seorw St

33. Explain any three points of importance of service sector in the Indian economy.

wiT sdsrae § A d9F ¥ wea & Feell e e =t s Fifa

34, State -

(a) any foyr major sources of noise pollution

(b) = wgTm F S wwE

=opo-
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